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Diploma of Associate Engineer 
Ist Year Electrical / Electronics / Telecomm /
Computer Hardware / Bio-Medical Technology (New Course)
Annual Examination 2012
Paper: - Applied Mathematics – I (Math– 123)  (Paper –A)
--------------------------------------------------------------------------------------------------------------------- 

Time Allowed: - 
03  Hours. 





Max. Marks: - 75 
 Note: - 
Part – A is compulsory. It should be attempted on the question paper & handed 
over to the Centre Superintendent after 30 minutes. Cutting, erasing & 
overwriting is not allowed. 

Time: - 
30 Minutes 


Part – A 



Marks: - 15 

Q.1: -  
  (a)
Choose the correct answer. 
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i. Discriminant of 
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 is ___________   a) 2 
  b) 4
 c) 8
d) 0 
ii. The middle term in the expansion of (a+b)6 is ___________________  
a) 5th  

b) 4 th 
     c) 3rd 
 
d)  6th

iii. Sec2  θ -tan2 θ is equal to ____________   

a) 0 
  b) 1 
c) -1
d)  2
iv. Cos 
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is equal to ______________ 
a) 
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b) Cos
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c) Sin
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d) Sin β
v. Ratio between height and distance (base) is called ______________. 
a) tan θ 
b) Sin θ 

c) Sec θ 

d) Cosec θ
(b) Fill in the blanks. 
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i.  The co-efficient of the first and last term in the binomial equation are _______________. 
ii. 
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Radians = _______________ degree. 
iii. 
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is equal to  _____________. 
iv. A triangle with none of angle right angle is called __________________. 
v. For any  
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 is known as _________________. 
 
( c ) 
Choose the correct Answer of each statement in Column No-I from Column 
No 2 & place its identifying letter a,b,c, or d in the space provided on the right hand side of each statement.  
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	Column – I 
	
	Column – 2 

	i)
	Degree of quadratic equation will be _______________
	a)
	Sin θ

	ii)
	If  
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then x is equal to _________________. 
	b)
	35

	iii)
	 The value of  
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 is ______________
	c)
	34

	iv)
	The Sign of Cot 
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 in the 4th quadrant is _________
	d)
	02

	v)
	2Sin 
[image: image13.wmf]q

 Cos 
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 is equal to ______________
	e)
	Positive 

	
	
	f)
	Sin2 θ 

	
	
	g)
	Negative 

	
	
	h) 
	330
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Max. Marks: - 60
 Part – B
Note: - 

Attempt any Six questions in all by selecting two questions from each section. All 
questions carry equal marks. 
Section – I 

Q.No.2: - 
For what value of m the roots of the equation x2+3(m+1)x+4m+5=0 are equal. 
Q. No.3: - 
If the difference of the roots of x2-7x+k-4=0 is 5. Find the value of K and the 

roots.  
Q.No.4: - 
From the quadratic equation whose roots are reciprocal of the roots of the 
equation Px2-qx+r=0. 
Q.No.5: - 
Find the fifth term in the expansion of (2x2-3/x)10
Section – II

Q.No.6: - 
Convert 0.726 radian in to degree, minutes and seconds. 
 Q. No.7: - 
If Cot 
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 = 2/3 and terminal side of the angle does not lie in the first quadrant.  
Find the remaining trigonometric functions.  
Q.No.8: -  
Prove that 
[image: image16.wmf]q

q

q

q

q

sec

2

1

tan

1

tan

Co

Sec

Sec

=

+

+

-

. 
Q.No.9: - 
Show that  
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Section – III 
Q.No.10:- 
In any triangle ABC if A=60°, B=45° .Find the ratio of b to c
Q.No.11: - 
Solve the triangle given that A=35° a=5 and C= 90°      

Q.No.12: - 
Find a unit vector parallel to the sum of the vectors    
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Q.No.13: - 
Find Cosine of the angle between the vectors  
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